TP 3 SANS INTERFACE !!!
public class Matrices {

    private int lignes;

    private int colonnes;

    private double[][]tab;

    public Matrices(int l,int c){

        lignes = l;

        colonnes = c;

        tab = new double[l][c];

    }

    public int getLignes(){

        return lignes;

    }

    public int getColonnes(){

        return colonnes;

    }

  /*  public double get(int i, int j){

        return tab[i][j];

    }*/

    public void put(int i, int j, double v){

        tab[i][j] = v;

    }

public Matrices produit(Matrices m){


if(getColonnes() != m.getLignes())  


 System.out.println("on ne peut pas les multiplier");  


Matrices r = new Matrices(getLignes(),m.getColonnes());


for(int i=0;i<getLignes();i++){



for(int j=0;j<m.getColonnes();j++){


   

double s = 0;


   

for(int k=0;k<getColonnes();k++)


       

s += tab[i][k] * m.tab[k][j];


   

r.tab[i][j] = s;


      }


 }


   return r;


}

    public Matrices somme(Matrices m){

        if(getLignes() != m.getLignes() || getColonnes()!=m.getColonnes()){

        System.out.println("on ne peut pas les additionner");                             

        }

  

Matrices r = new Matrices(getLignes(),getColonnes());

  

if(getLignes() == m.getLignes() && getColonnes()==m.getColonnes()){

        for(int i=0;i<getLignes();i++)

            for(int j=0;j<getColonnes();j++)

                r.tab[i][j] = tab[i][j] + m.tab[i][j];

       
}

        return r;

    }

    public String toString(){

        String s="";

        for(int i=0;i<getLignes();i++){

            for(int j=0;j<getColonnes();j++)

                s = s+tab[i][j]+ " ";

            s += "\n";

        }

        return s;

    }

}
////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////

public class mainMatrices {

    public static void main(String[]args){

        int NBLIG = 2, NBCOL = 4;

        Matrices a = new Matrices(NBLIG, NBCOL);

        Matrices b = new Matrices(NBCOL, NBLIG);

        Matrices c = new Matrices(NBLIG,NBCOL);

        for(int i = 0;i<NBLIG;i++)

            for(int j=0;j<NBCOL;j++){

                a.put(i, j, (int)(Math.random()*10));

                b.put(j, i, (int)(Math.random()*10));

                c.put(i,j, (int)(Math.random()*10));

            }

        System.out.println(a);

        System.out.println(b);

        System.out.println(c);

        System.out.println(a.produit(b));

        System.out.println(a.somme(c));

        System.out.println(a.somme(b));

    } 

}

